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WA ;20234127100 (H) S ZHEAZWMG AR—Y Ok $5FE KK (50m)

No. 11 &+ 50m /N2 754 B4 LL—RREE RKmE 38.84

L 8WUT >

EhI K 4 T B 2E KE B
1ok A A S S P /N1 1/ 5 48.12 5% ( )
2 5 B A HKy7SC P /N2 3/ 2 48. 75 58k ( )
3 61| HTHESS P /2 1/ 3 49. 74 4% ( )
4 HR LS IWHAHMFSC P /2 2/ 4 50. 04 4%k ( )
5 /NE BN H7H eSS P /N2 1/ 7 52. 44 2% ( )
6 B EsE FES S P /N2 2/ 7 53. 42 28% ( )
7 Y8 ik NRASBPR P /N2 2/ 5 54. 69 15 ( )
8 EAR DT A RSC P /]2 2/ 3 54.76 1% ( )
9 Bl T FHELS S /N2 1/ 6 55.97 *Fi@) ( )

No. 11 & 50m /A2 754 BALL—RREE AR 31.84

£ 9~10% >

IBf. K 4 i B 2E KE i
1 /NI B JSSH¥* P /3 7/ 8 34.40 10#% ( 0.65)
2 JHEF i HEAS S P /N 6/ 2 35. 46 8#% ( 0.80)
3 B A HTHESS P /M 4/ 5 40. 42 6:% ( )
4 IR TR 2FE/SS P S 5/ 1 42.67 *F#) 3k ( 0.64)
5 [ FFKE SPEETZE D P /13 3/ 1 43. 37 584 ( )
6 A Tk ~_2Z2XSS P54/ 6 43.53 3tk ( )
T EHEEALAE Ky 7SC P /N3 4/ 7 44.13 45% ( )
8 Il L AHMAT P /N3 4/ 2 44.16 4% ( )
9 KH %7 HT72ASS P /N3 3/ 8 45. 36 3% ( )
10 BpHA A B ~N2ZNS'S P /3 3/ 7 45. 49 3tk ( )
11 B Bl HTHASS P /M 4/ 1 45.76 1% ( )
12 [HE s 7o Z KSC P /M 4/ 8 45. 80 Lk ( )
13 G 72 7ol 2 S S P /N3 3/ 3 46. 55 3% ( )
14 =R HE HEH A4 P /M 3/ 4 47. 11 ( )
15 /NEpsfE & AEHKIUE P /)M 2/ 2 52.53 ( )
16 HH FfH NASNRP P /M 1/ 4 53.73 ( )
17 e EBR NR2ZRS'S /N4 2/ 6 55.94 ( )

OPN ZpA  EHbL A4 h~r%4E /M 4/ 3 42.03 4% ( )

No.11 Z+F 50m /N3 754 BA L L—RR PNl 28. 87

L 1M1~12:% >

Bf. KK 4 i B 2E KB i
1 ¥ £FH J SSmP P /)6 7/ 4 30. 39 10#% ( 0.65)
2 JEHFFEIR HRry7SC P /N6 7/ 5 30. 60 10#% ( 0.64)
3 KB Rz JSSHY P /)6 7/ 3 31.33 10#% ( 0.68)
4 it SR ~NZ/8S'S P /)6 7/ 6 31.39 9% ( 0.65)
b A EE JSSHT P /6 7/ 2 31. 46 9%% ( 0.68)
6 i FESEMW R2SMR P /N6 7/ 1 33.10 9% ( 0.82)
T KA FoE HEHZA P /N6 6/ 4 33.72 8#% ( 0.60)
8 FEH W NRZANABR P /N 7/ 7 33.75 8tk ( 0.70)
9 /R BRIR YAV NI NG 6/ 6 35.00 6% ( 0.70)
10 EfE #] J SSHBR P /15 6/ 5 35. 06 7#% ( 0.83)
11 KH WA Ky 7SC P /5 6/ 3 35. 24 % (0.71)
12 =4 & HT7AHSS P /N6 6/ 1 35. 51 6% ( 0.90)
13 K BHEE JSSHT /N5 5/ 3 37.33 6% ( 0.76)
14 (L FASER 2% /SS P /6 6/ 8 37.56 *F&h 5#% ( 0.72)
15 iz Z=p HHIUAT P /b 5/ 4 38.12 58 ( 0.79)
16 M HERL kv Z7SC P H1 5/ 1 38. 91 3#% ( 0.81)
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HIH :20234£12H 10H (H) S ZHAZBG AR—Y Ot $AFEAKTKSS (50m)

No. 11 &+ 50m /N2 754 B4 LL—RREE R 28.87
L MNM~128% >

B & £ i & FE KK B FH
17 21| A 2 /SS PG 5/ 5 39.05 4%% ( 0.76)
18 )1y H BHEUHET P 1 5/ 2 39. 42 3% ( 0.64)
19 (LHE #H THEeTH P/J6  5/8 39. 85 3% ( 0.63)
20 TNEIRE FER DU H T N 4/ 4 40. 50 3tk ( )
21 3KH M THEeTH P/Q5 5/ 6 40. 87 3% ( 0.73)
22 1m0 7T A KSC P /N5 3/ 5 46. 57 ( )
23 faHE % IWHFSC P /5 3/6 46. 69 ( )
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